(]

36436 — HiiA T A TE]

Jl gl

BT BB )R AT 42

— U, AR
F— PR AS A
Bl S A M A, RS R B THE 2 5 5840 1

ELMEZ175595%, AT DESERETT IR (BOR) B 7, RO « AR50 /R 040 LAY (8
B ESEPET IREIAY H i, H mRE IR, i ARBREAME R, Aok EN, 2R
(ISP REPZ e Y SR

* AERH E S A3 B AA T R E (A
FEBTHS F A S B A 1 BB ] — B AR 2 2 PR K H VR N IE

WEARR P AR A B 5 B B AR A S AR, AT DAHEIR BIBCREHA T, (HRAREHEE R+ —
H &2 0 IR B

B LE CATEMT MHFE (1L 128013) AT
* FA TR AE S A .

E“BAER” MHTE (11, 128113) BefA 1 ru e MK BH w78 4G CH 52 A L e i 1) 38 N1
A .

e Y SR RINES TN GIE

1/ 2


https://archive-1446.islamqa.info/zh/answers/36436/%E6%8A%95%E6%8E%B7%E7%9F%B3%E5%AD%90%E7%9A%84%E6%97%B6%E9%97%B4

(]

B T ] — BERIBORER, WoRINEEE ., s B IMEE, W MER A 1, —EHIR
WL, (EAS Fe VAR 2B Y B s 50 1

ARVHES+—H H+HME+=HBRBRIEZ AT 8801, By JB@EmLZ) RIER
BHA P 2 5 A1, XA B “ARMINGZ B2 SRS 7 e (B ML) £
LR LU AR RN A 5 I B B AT, T E R 2R 2 SR B P4 2 5 B, X B BAS
REAEIX AN (8] Z BT 7, [FIRE, Sen OB AR 22D AR P PG A, AEMmAL 2 AT Be a7
XAB LA BELE R FH W P Z BT B4, 75 WAE A BH (i P 2 AT Ecai 40 52 SEINUER Yy, 1 AERAL I
SIS IR B AL, OO HAL A SR — I Al A Uk, SIS 2, IREEUEE AR U AR “ A AR [
H 7 BLANBEAE R BH i 78 2 BT84 1

HOEZ I (A2 ZRAERF L) (BR56000) .

HEZEH!

2/ 2



